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QUESTION 1

Tensor Yes MindSpore The storage component of the data. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

Which of the following aspects belong to Huawei\\'s full stack AI solution? 

A. Ascend 

B. CANN 

C. ModelArts 

D. MindSpore 

Correct Answer: ABCD 

 

QUESTION 3

In a neural network based on connectionism, each node can express a specific meaning. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 4

It is known that the total parameter of a certain layer of the fully connected neural network is 330,The number of
neurons in the previous layer and this layer May be? 

A. 32 with 10 

B. 10 with 33 

C. 33 with 10 

D. 9 with 33 

Correct Answer: BC 
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QUESTION 5

In the deep learning network, the backpropagation algorithm is used to find the optimal parameters. What rules are used
in the backpropagation algorithm to obtain the derivation layer by layer? 

A. Chain rule 

B. Cumulative rule 

C. Law of reciprocity 

D. Rule of Normalization 

Correct Answer: A 
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